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MAT 011, Exam #4, Fall 2015 Name L
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Instruction: Show all work. Answers without work will not receive full credit. Provide exact answers
unless specifically asked to round.

1. Factor out the GCF. (3 points each)
a. 6x%y? —3xy3 b. 11x(4x +3) — 6(4x — 3)

dxyt (zw-ﬂ <(' 5 ‘3)0\7\'\05

2. Factor by grouping. (4 points each)

a. 3a®+9ab +3b%+ ab b.3x3 — 4x* + 6x — 8
3 (a+ 30)+ (3 +a) X3y =) + 2 (B5-4)
(a:+30)( Bt lo) () (351

3. Factor each trinomial. (5 points each)
a. x?—11x + 24 d.2x*+13x+ 6

(x -3)(x-<) (2x+ Wx +6)

b. x*—x+2 e.x? + 8xy t 15y2

\./J. (A 'L-.:'\Q» [)( _\-S7><)\.+ 5\/)

~

c. 4x?—28xy + 49y2

(Q;c. 4—'%11) (?. “/\“':}\i\
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4. Factor each binomial. (5 points each)
a. 4x2-9

(242 (2¢-+3)

b. 8x3+ 27

(22D ~6x+9)

Solve the equation. (6 points each)
a. (x+6)(x-2)=0

X= \(O)‘ X:Z

b. 4t3—5t2-21t =0

L(dr-st2i) =0

t GexdE-3DN=o
f‘t:@‘ ‘t'—'—-% yt:?)

c. 16x? + 9y

/_)Wﬂr 'S

d.16x* -1

(4y2)
(4x++1)

c.x%+10x
X% +10X

(x+5)(A

(V)
(22 (2% )

= —25
t2V-0
HS) =0
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6. Arocket is fired from the ground with an initial velocity of 4.
seconds is given by h = —16t2 + 440¢t.

a. How many seconds pass before the rocket reaches 280(

~lbt* 4+ Y Yok = Z oo
~ > |+440L - 2¥00 =0

~%(2* -s5t3W) = 0O
—% (QJ{L — 20t 55k f%&-‘o\ =0

—g(2€ (- 1) ~35 (L] =0
=3 (263 -10) =0

b. How many seconds pass before the rocket hits the groun
—let® +4Ydot =0
~ge (2t -55)=0
10 (Leaneh)
S
ft = 'l?: ‘QDQJ;EN\&QD
Z}S

7. The perimeter of the triangle is 48 inches. Find the lengths of

40 feet per second. Its height after ¢

) feet? (7 points)
_ 3
710, 1= 3 Seado
Prrgup  Cog
[2s

d? (7 points)

the sides. (9 points)

,q = x2+3. fl‘x+5':ZI
2x =
o KEtbrrio=o
Y43+ §e 1S T2x=1] (¢ 4103 (-1 =
VGRTAR S EL TS xe-10/| %=y
A 'LL.-) rQ&SL-;D_{z,

BONUS: Factor the polynomial x6 — 1 completely. [Hint: you should e
(R=DLe =)
(Y= DO w0 L)) (3 w1

nd up with 4 factors.] (8 points)




